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limitations : ① Sensitive to our choice of to .
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a probability TT to 0,1 .
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Faningample - Two predictors - stop ,
sex

Fitted additive model : quantitative Jinan

log ( = -2.765 +0.018 X
, -0.783×2

✗ ,
= Systolic blood pressure (mmHg)

Xz = { 1 female

0 male

wpwan.ms an Ram .

Males : log /¥¥) = -2.765+0.018×1
in

Females : log = -2.76s -0.783

+ I× ,

Females - Males : -0.783

F-Hed interaction model :

log / ¥-7) = -2.089 +0.0128×1 -1.867×2
1- 0.0080 Xp Xz

Males (✗Eo) : -2.089 +0.0128×1\
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Females - Males : -1.867 + 0.0087
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How to interpret the interaction coat itself ?
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